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Part A

Section Id : 920906509
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906825
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090625711 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

1 fou v veriw &) ueaR fAAfafad udi & I e

STl sifden &1 e 8, g9 AR ¥ %,
g1 3T FHETHTE ¥ dH e 38 H 94 R

& I 39 HW-UH 1 ISR 18 K
&H U HUT B TUPHT IdR 1 gV el?

foren famn sr@ 3@ o1, g6 Uil & 3 €
& dl 7l g, fbeg T8 d agelal & U g

Sub questions

Question Number : 1 Question Id : 92090625712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IS GRGINR R E R C S

(1) oA (2) dgHd
(3) <xft (4) fag=h
Options :

920906101601. 1
920906101602. 2
920906101603. 3
920906101604. 4

Question Number : 2 Question Id : 92090625713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR Ui I Xreg o1 1 3 87

(1) =3 7Ol grem (2) SR TN ara
(3)  TUEH (4) o

Options :



920906101605. 1
920906101606. 2
920906101607. 3
920906101608. 4

Question Number : 3 Question Id : 92090625714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bl 3T FHATHIE F i W H A |
TR B W SURIad dfdd § g1 T uged i R e 82

(1) gof farmm 2) A fRm
(3) UYarEa® 4 fawmre diys
Options :

920906101609. 1
920906101610. 2
920906101611. 3
920906101612. 4

Question Number : 4 Question Id : 92090625715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R U= H SedT Ues W WYed U E -

(1)  AfdaE® (2) ifddrEs
(3) HddEd® (4) woOdrEa®
Options :

920906101613. 1
920906101614. 2
920906101615. 3
920906101616. 4

Question Number : S Question Id : 92090625716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR R § vyga e wee &1 fadm @

(1)  "id=n (2) aifden
3)  fa=mdf (4) A=
Options :

920906101617. 1
920906101618. 2
920906101619. 3
920906101620. 4

Question Id : 92090625711 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

2 fau U weiw &1 ugar FrEfafad uyt & IR e

o1l sifden 1 fen 8, g9 PR &9 3@;
81! 31T FHETHTE H 9 T H 99 R

& I 39 HW-Ufly BT ISR 1 8T AN
BH TR PHUI I HUHT S{adR FI g gl?

farey fomT s 4@ &), s Ul & 3N §;
& d T9 g4, fob=g Y8 d Sguial & U g

Sub questions

Question Number : 1 Question Id : 92090625712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Ui § W U §

(1) d&H (2) dgHd
(3) o 4) fac=h
Options :

920906101601. 1
920906101602. 2
920906101603. 3



920906101604. 4

Question Number : 2 Question Id : 92090625713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Ui H GO e 1 1 3 77

(1) 3= 707 drel (2) X TOT aren
(3)  TUEH @) frfo
Options :

920906101605. 1
920906101606. 2
920906101607. 3
920906101608. 4

Question Number : 3 Question Id : 92090625714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B! 31T FATHIE F I W H T B!
Ui H UK IURied Ui ® g1 ® ugad fam g sH-a g2

(1) qui feRm 2) oA fawm
(3) UYdES 4 fawmre diys
Options :

920906101609. 1
920906101610. 2
920906101611. 3
920906101612. 4

Question Number : 4 Question Id : 92090625715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR H Tl Xreg # Ugad U@ -
(1) cAfedars (2) wifcdres
(3)  HAdE® (4) TodarEa®

Options :



920906101613. 1
920906101614. 2
920906101615. 3
920906101616. 4

Question Number : 5 Question Id : 92090625716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

VRd Ui H vgad faer ves &1 [dam @

(1)  |fd=n (2) aifden
3) faemit @) faerw
Options :

920906101617. 1
920906101618. 2
920906101619. 3
920906101620. 4

Sub-Section Number : 2
Sub-Section Id : 920906826
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090625717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATpIeid: &1 [AdH S 91 87?

(1) R drErfas (2 g
(3) gt (4) ufEmt
Options :

920906101621. 1
920906101622. 2
920906101623. 3
920906101624. 4

Question Number : 6 Question Id : 92090625717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATehIieip &1 f[ddH H19 1 82

(1) TR drhIas (2) TmH
(3) i (4) ufErHt
Options :

920906101621. 1
920906101622. 2
920906101623. 3
920906101624. 4

Question Number : 7 Question Id : 92090625718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Zfaer 4 et & fou U s &9 9182

(1) Ufdefa® 2) ISAfdE
3) g (4) WRplas
Options :

920906101625. 1
920906101626. 2
920906101627. 3
920906101628. 4

Question Number : 7 Question Id : 92090625718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ZfAer 4 Yl & fou U Wsg &1F 91 82

(1) Ufdei® 2) IeHiaE
3) IS (4) Wipldd
Options :

920906101625. 1
920906101626. 2
920906101627. 3
920906101628. 4

Question Number : 8 Question Id : 92090625719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Y IR 61 994 S|

(1) TR TH O™ eifom| (2) U &Y TH I ey
(3) dIfGt U U 9™ TRA| (4) <91 &1 UH TRA Y S|
Options :

920906101629. 1
920906101630. 2
920906101631. 3
920906101632. 4

Question Number : 8 Question Id : 92090625719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y[z IR 61 994 S|

(1) TRHATH O™ S| (2) U &Y TH I ey
(3) ISt U U 90 TRA| (4) 919 &1 Udh TRA Y S|
Options :

920906101629. 1
920906101630. 2
920906101631. 3
920906101632. 4

Question Number : 9 Question Id : 92090625720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rrfad & & #1 o vss ad- o i & g &

(1)  Judd (2) Jodd
(3) gouldd (4) Iulddd
Options :

920906101633. 1
920906101634. 2
920906101635. 3
920906101636. 4



Question Number : 9 Question Id : 92090625720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rrfad & & #1 o vss ad- o i & g &

(1} Jwdd (2) Joodd
(3) Jwuldd (4) Joldd
Options :

920906101633. 1
920906101634. 2
920906101635. 3
920906101636. 4

Question Number : 10 Question Id : 92090625721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrefoiRaa & 9 -3iid T gerar &1 Hel ol a1 82

(1) 3fid fsarn 2 offE Fara
(3)  off| e @) He B
Options :

920906101637. 1
920906101638. 2
920906101639. 3
920906101640. 4

Question Number : 10 Question Id : 92090625721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafad ° 9 st gAT geTR &1 Tl i 1 82

(1) 3 fur 2 i@ AT
(3) offa e @) He BT
Options :

920906101637. 1
920906101638. 2



920906101639. 3
920906101640. 4

Question Number : 11 Question Id : 92090625722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 H IURYd TURE g7 &1 He Feferad § 9 a1 82

(1) 40H (2) 24Y9H
(3) 23 91 (4) 329H
Options :

920906101641. 1
920906101642. 2
920906101643. 3
920906101644. 4

Question Number : 11 Question Id : 92090625722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHd H IUfyd VR g7 &1 He Feferrad § 9 @ 82

(1) 40Y9H (2) 24Y9H
(3) 23 91 (4) 329H
Options :

920906101641. 1
920906101642. 2
920906101643. 3
920906101644. 4

Question Number : 12 Question Id : 92090625723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ 2020 TP, HRA & Ffaur # foa-i yrsnsf &1 e yrsTsf &1 wF &g T 82

(1) CE (2) Sd
(3) U @) U™



Options :

920906101645. 1
920906101646. 2
920906101647. 3
920906101648. 4

Question Number : 12 Question Id : 92090625723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ 2020 TP, HRA & Ay 7 fa-t vl &1 Arefiy rstsfi &1 R foar T 82

(n = 2) 3E
(3) U @) U™
Options :

920906101645. 1
920906101646. 2
920906101647. 3
920906101648. 4

Question Number : 13 Question Id : 92090625724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SCERIVE G ERIE EdlEIY

G- T

(GTE] HIgd Wieh JRBR -qH) (Gita-ud=a Iuafe REpR & faoran
(A) 2017 () aHl®d
(8) 2018 (1) 3T URE
(©) 2019 (DREEICREE
(D) 2022 (v) S d=1
Hid fau 0 fawseul & ¥ 9l IR &1 984 B
(1) (A)-(1), (B)-(1), (O)-(1I), (D)-(IV)
(2) (A)-(11), (B)-(1V), (C)-(1), (D)-(11)
(3) (A)-(I), (B)-(In), (Q)-(1V), (D)-(1)
(4)  (A)-(IV), (B)-(1), (C)-(I1), (D)-(I1)

Options :



920906101649. 1
920906101650. 2
920906101651. 3
920906101652. 4

Question Number : 13 Question Id : 92090625724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | & a1y g 11 T e S

i1 G-I
(GTS] TIgd Biedh DR -au) (Ghta-Td=1 IUafe [TEHR & faoran
(A) 2017 () TeEd
(B) 2018 (1) 3= URE
(€ 2019 any fa-ig ==
(D) 2022 (Iv) SHfFEH §=9

i fau v fawedi § 9§ W€l It &1 94 Difere:

(1) (A=), (B)-(I), (O)-(1n), (D)-(IV)
(2)  (A)-(l), (B)-(IV), (©)-(1), (D)-(I)
(3) (A=), (B)-(In), (C)-(1V), (D)-(1)
@) (A)-(IV), (B)-(1), (C)-(11), (D)-(l11)

Options :

920906101649. 1
920906101650. 2
920906101651. 3
920906101652. 4

Question Number : 14 Question Id : 92090625725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R pyrfeumu e

HY | : AfiP TAIY GaBd, 2021 & AR HRd 7 Af¥$ dFY Yadie 2021 #
46d1 R U foban g

HUF | AP TdRIY, 2021 F AR, HING! TR A df%E 909 Yadhis § -
& 91 $UR & Uid a2 | 2021 H ygll IR W8 §918 o

JIWIad HYH & e H, A f2u e faswadi 1 9 9l I &1 994 Sife

(1) ®YFIHRNSHI TT &

2)  ®YAI R I SE A §

(3) HYAI T g, Albd HUF Il S B
(4) HY | TG g, Alch DY 11 T B

Options :

920906101653. 1
920906101654. 2
920906101655. 3
920906101656. 4

Question Number : 14 Question Id : 92090625725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG HyA R M E:
HY | : AfiP TAY GBI, 2021 B HJUR YR 7 Afi$ aFY Gadie 2021 #
46d1 R U fban g

HYF | AP TAFIY, 2021 F HTAR, HING! TR 3 A%F 908 YaHis 7 ©H
& aId FH9R & Uid o2 § 2021 H Ugell R W18 @15 g

JIWITd HYH & 3aid H, A f2u e fawadi 1 § 9l 3o &1 994 Sifeu
(1) SYFIIRNAF IAE

2) ®HYI R I SH 3R §

(3) YA T §, Afed U 1l 3EA &

(4) DY T g, Afhd HUT I T &

Options :
920906101653. 1



920906101654. 2
920906101655. 3
920906101656. 4

Question Number : 15 Question Id : 92090625726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg UYH PIO Higell 1 § oA (—50 °C W) aféoft ya a 1397 fft ssiqafmad ¢ &1
ifdHT wIftd faar

(1) gia gdl (2) orefomT g
(3) U (4) ST et
Options :

920906101657. 1
920906101658. 2
920906101659. 3
920906101660. 4

Question Number : 15 Question Id : 92090625726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 UYH PIO HAigdl B § oA (-50 °C W) gl ya d& 1397 Tl sHsEafad ¢ &1
SifcarE wifta faar

(1) saEd (2)  Srefomr R
(3) EE=l U™ 4) SASIadl
Options :

920906101657. 1
920906101658. 2
920906101659. 3
920906101660. 4

Question Number : 16 Question Id : 92090625727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 fordt 8Y T W usd 3R sifaw il &1 3y ¥ 92d 33 & dIE el &1 Ual gt
H 1 g7

A 216
B: 793
C. 682
D. 497
E. 385

1= feu o fawedi § 9 9El IR &1 994 Do :

(1) B.C.AE B 2y B.CEAD
3 CBEAD 4 CAEBD
Options :

920906101661. 1
920906101662. 2
920906101663. 3
920906101664. 4

Question Number : 16 Question Id : 92090625727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 fordt 8Y T W usd 3R sifaw il &1 3y ¥ 92d 33 & dIE el &1 Ual gt
H 1 g7

A 216
B: 793
C. 682
D. 497
E. 385

1= feu o fawedi § 9 9El IR &1 994 Do :

(1) B.C.AE B 2y B.CEAD
3 CBEAD 4 CAEBD
Options :

920906101661. 1
920906101662. 2
920906101663. 3
920906101664. 4

Question Number : 17 Question Id : 92090625728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THI A Higd 9 $el “Usd HaR 87 3(UA I8 & Sl d¢ &f dgd &l gvdll” T J
fpas! gvmnr

(m = (2) g3
@) & (4) &

Options :

920906101665. 1
920906101666. 2
920906101667 3
920906101668. 4

Question Number : 17 Question Id : 92090625728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

T A A 9§ Fel ‘lUsd 9WaRr 79 3 61 & Ihdld 9¢ &I d8d &I g™l I A
foas®! gvmr?

(1) Hf (2) 3
@) s @ e

Options :

920906101665. 1
920906101666. 2
920906101667 3
920906101668. 4

Question Number : 18 Question Id : 92090625729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v, ®ifd, Rest ok wardl eme, e, Sifern iR egfey ¥ 9 Us % Ul € s g &+ o
Ud $HH § 39 gU B | Rl 31 Sifern &1 B fiadn g1 7S &1 gl 2gfeg & @i & Adhe B
i &1 39 N &1 B 81 Fieral off 39 98 & Ui g o1 ©d Rt &1 f&an mn g1 12
3R A" & Neli & o9 Haa Siferan &1 Ui g | Wi H1 S W wa fada g2

(1) TaE (2) Tar
(3) erferm (4) <gfem
Options :

920906101669. 1
920906101670. 2
920906101671. 3
920906101672. 4

Question Number : 18 Question Id : 92090625729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



vifa, ®ifd, Rt ofR Tt e, e, Siferan ok egfay ¥ 9 Us % Ul € s aid & o
Us A O 39 gU & | Rl &1 siferan &1 wa fiaan €1 7 &1 diwn 2gfed & WY & Fde g
Hifd @1 39 WY &1 o a1 e o 39 Uid & U § foraet wa Rel &1 foar mn g1 713
3R T[eld & del & e Faa Siiemn 1 e g 1 Wi &) S 91 Ea fadr g2

(1)  Tard 2) e
3) e (4) <gfem
Options :

920906101669. 1
920906101670. 2
920906101671. 3
920906101672. 4

Question Number : 19 Question Id : 92090625730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@l 11, 18, 13, 20, 15, ......... § 7T H&=HT &1 gHIT?

(m 21 2y 22
(3 23 4) 24
Options :

920906101673. 1
920906101674. 2
920906101675. 3
920906101676. 4

Question Number : 19 Question Id : 92090625730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§Eal 11, 18, 13, 20, 15, ........ | STell &1 &1 grfl?

(1) 21 2} 22
(3) 23 4y 24
Options :

920906101673. 1
920906101674. 2



920906101675. 3
920906101676. 4

Question Number : 20 Question Id : 92090625731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A ByTRTME:

U fa9 &1 # 'BRIGHT' &1 ‘ATHIGY feran Sran @ ol 3t sie |

@Y | : ‘NORTH' DI "MPSVG' ferar S dut

HYT Il : "WATER’ &I 'VCSGS' feram Jmm|

IWRIed HYF P 3Hale H, A AT Y faseul # 9 ¥el IR &1 994 Sl

(1) HYFISNRNGHI 9§

(2) YT SR IS AT §

(3) Y1 HA B, Al FYA 11 ST B
(4) HUFIMTT g, Albd HUT 11 T §

Options :

920906101677. 1
920906101678. 2
920906101679. 3
920906101680. 4

Question Number : 20 Question Id : 92090625731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R A ByTRTME:

U fa9 &1 # 'BRIGHT' &1 ‘ATHIGY feran Sran @ ol 3t sie |

@Y | : ‘NORTH' DI "MPSVG' ferar S dut

HYT Il : "WATER’ &I 'VCSGS' feram Jmm|

IWRIed HYF P 3Hale H, A AT Y faseul # 9 ¥el IR &1 994 Sl

(1) YIRS TFE

(2) YT SR IS AT §

(3) Y1 HA B, Al FYA 11 ST B
(4) HUFIMTT g, Albd HUT 11 T §

Options :

920906101677. 1
920906101678. 2
920906101679. 3
920906101680. 4

Question Number : 21 Question Id : 92090625732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIg 5% @] dIftie YR &4Te IR $o o < &dl g1 fdha= aul & e oF fFaw & W)
o= AT 81 S|

(1) 2594 2) 20aY
3) 189y @ 15a4
Options :

920906101681. 1
920906101682. 2
920906101683. 3
920906101684. 4

Question Number : 21 Question Id : 92090625732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIg 5% @1 it YR o416 R $ o o< &dl g1 fdhd- aul & e 1H Fag &3 )
o= AT 81 S|

(1) 2594 2) 20a4
3) 18°y @) 15a4
Options :

920906101681. 1
920906101682. 2
920906101683. 3
920906101684. 4

Question Number : 22 Question Id : 92090625733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 3R WA f9g 8 5 km/h TUT 3 km/h BT &R 9 B fag $1 3R 71fd 3 €1 afe I, A8
1921 Jd B ®JF R Ugd oIl & dl A 3R B & &9 &1 g3l 1 gl

(1) s Tt (2) 6 Tl
(3) 6.5 @A 4) 7.5 fbdt
Options :

920906101685. 1
920906101686. 2
920906101687. 3
920906101688. 4

Question Number : 22 Question Id : 92090625733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T SR H A fag @ 5 kmy/h TUT 3 kmy/h &1 &R & B fawg 31 3R 71fd &3 &1 afg I, 798
1 ¥e1 Jd B ®IF WX Ugd STl & dl A 31K B & &l @ gl &l gIiil?

(1) 5Tt 2) 6T
(3) 6.5 A 4) 7.5 Tt
Options :

920906101685. 1
920906101686. 2



920906101687. 3
920906101688. 4

Question Number : 23 Question Id : 92090625734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe ¥ 70% "HE! § 99 diddl g aul §iF1 75% Wl § 89 |iddi & of fbad ufa2d Al
H U 8l 9 W Il U gE &l [y i

(1) 15% (2) 40%
(3) 7.5% 4y 20%
Options :

920906101689. 1
920906101690. 2
920906101691. 3
920906101692. 4

Question Number : 23 Question Id : 92090625734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ¥ 70% "HE! § 99 diadl g aul |91 75% Wl § 99 Siddi o df fbad ufd=d Al
# U Bl 9 W gl U gER &l e S

(1) 15% (2) 40%
(3) 7.5% 4y 20%
Options :

920906101689. 1
920906101690. 2
920906101691. 3
920906101692. 4

Question Number : 24 Question Id : 92090625735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ufda=130b=133,c=137,da*+ b’ + -3 abcHIAA G

(m 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906101693. 1
920906101694. 2
920906101695. 3
920906101696. 4

Question Number : 24 Question Id : 92090625735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a=130,b=133, c=13/,dla" + + ¢ — 3 abc
gfe 30, b = 133 37.A a2 +b*+F—3abcHAAG

(m 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906101693. 1
920906101694. 2
920906101695. 3
920906101696. 4

Question Number : 25 Question Id : 92090625736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frfif@d # & gemeR $ I $1H 11 981 d8dR &7

A, 20% 3R 30% it §21dUT 10% JaT HR |

B. 30% 3R 10% hi® §81dYl 10% Jd1 HI

C. UEH 10% Ydl B &3 P UYTd 20% TUT 30% shiHD ST YT |
D. Ugd 10% Hdl &R U: 30% YT 20% HiHS d&1 YTdH |

4 feu T fasedi @ 9 e IR &1 99 HifolT ;

(1) &ddD

(2) $ddA, B

(3) &ddB C D

(4) $HddACD
Options :

920906101697. 1
920906101698. 2
920906101699. 3
920906101700. 4

Question Number : 25 Question Id : 92090625736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frfif@d # & gemeR $ I $1H 11 981 d8dR &7

A, 20% 3R 30% it §21dUT 10% JaT HR |

B. 30% 3R 10% hi® §81dYl 10% Jd1 HI

C. UEH 10% Ydl B &3 P UYTd 20% TUT 30% shiHD ST YT |
D. Ugd 10% Hdl &R U: 30% YT 20% HiHS d&1 YTdH |

4 feu T fasedi @ 9 e IR &1 99 HifolT ;

(1) &gaD

(2) hddA, B

(3) &ddB,CD

(4) HAAAC D
Options :

920906101697. 1
920906101698. 2
920906101699. 3
920906101700. 4

Part B: M A Education

Section Id : 920906510
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906827
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090625737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Operation Blackboard is a salient recommendation of:
1. National Education Policy 2020
National Education Policy 1986

National Knowledge Commission

-l |

Secondary Education Commission

Options :

920906101701. 1
920906101702. 2
920906101703. 3
920906101704. 4

Question Number : 26 Question Id : 92090625737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR e &1 B 8 -
1. 9 e =Aifd 2020
2. Py e ifd 1986
3. VB I S
4. AATHE M S

Options :

920906101701. 1
920906101702. 2
920906101703. 3
920906101704. 4

Question Number : 27 Question Id : 92090625738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Online education provides opportunities to access, equity and
equality in education to the learners.

Reason R: Online Education is still faces the digital divide.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A

A is correct but R is not correct

oW M

A is not correct but R is correct

Options :

920906101705. 1
920906101706. 2
920906101707. 3
920906101708. 4

Question Number : 27 Question Id : 92090625738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRAFHYRUMUE:
DY |: TS FR1& SHET D1 R & FHI FHAD & GH 3R UgH Sl 6 |
HU 11: 3fTTers 2an spd oft Sfored vem &1 am & gl
et Byl & 3irediss H, AT T fasedi # § Ul ITv 1 99 S
1. A 3R R GHTEI § SRR, A DI ol AR §
2. A 3R R I TGl € Al R, A B Hg! ARAT el &
3. AUEIE Qi RT@d €
4. ATTAAE ABTR TS B

Options :

920906101705. 1
920906101706. 2
920906101707. 3
920906101708. 4



Question Number : 28 Question Id : 92090625739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The nearest English translation of ‘Gestalt’ as in Gestalt psychology is:
1. Configuration or Whole
Parts

Elements

AW

Constituents

Options :

9209061017009. 1
920906101710. 2
920906101711. 3
920906101712. 4

Question Number : 28 Question Id : 92090625739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TReTee TAIGTH B TReTee Weg 1 3ffeh ware wsg 8|
1. GHISTA yar gw g

2. HH

3. 3Pl

4, YUTH

Options :

920906101709. 1
920906101710. 2
920906101711. 3
920906101712. 4

Question Number : 29 Question Id : 92090625740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I

LIST | LIST Il

A. Benjamin Bloom I. Mastery learning

B. Albert Bandura Il. Social learning

C. David and Roger Johnson Ill. Cooperative learning
D. Robert Gagne IV. Conditions of learning

1. A-IV, B-lll, C-ll, D-I
2. A-l, B-ll, C-IV, D-lll
3. A, B, C-llil, D-IV
4. A-l, B-ll, C-|, D-IV

Options :

920906101713. 1
920906101714. 2
920906101715. 3
920906101716. 4

Question Number : 29 Question Id : 92090625740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 gl 1 ¥ i siforg

LGl il

A. SOIITEA SIH 1. ATE fRraror

B. 3{cac agl 11 TrHTfores fRiamor
C. 38 SIRASR G4 1. TP e
D. & M V. Saled fRreror

1. A-IV, B-lll, C-11, D-l

2. A-l, B-ll, C-1v, D=1l

3. A-l, B-ll, C-lll, D=1V

4. A-ll, B-lll, C-1, D=1V
Options :

920906101713. 1
920906101714. 2



920906101715. 3
920906101716. 4

Question Number : 30 Question Id : 92090625741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SSA stands for:
1. Sarva Shiksa Abhiyan
2. Samgra Shiksha Abhiyan
3. Sustainable Shiksha Abhiyan
4. Social Shiksha Abhiyan
Options :
920906101717. 1
920906101718. 2

920906101719. 3
920906101720. 4

Question Number : 30 Question Id : 92090625741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U9, UY. T, (SSA) A arqd 81
1. A& A
2. AU s
3. GRRR R SifaH
4. wrAIfoTeR fRI v

Options :

920906101717. 1
920906101718. 2
920906101719. 3
920906101720. 4

Question Number : 31 Question Id : 92090625742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following as ascending stages of moral development:
Self centered stage

Conventional stage

Irrational Conscientous stage

Rational Conscientous stage

m o 0 = »

Amoral stage
Choose the correct answer from the options given below:

T & B, 6 D E
2. DCA B E
3B E D LN
4. E. X.B.C.D

Options :

920906101721. 1

920906101722. 2

920906101723. 3
920906101724. 4

Question Number : 31 Question Id : 92090625742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afces gedi 1 Fofafad 9ol § d9gd gU HH H JafRyd Hifod :
A. TaPhied T/ SqRAT
B. TRUINTA TRT / S{aTT
c. 3dlfd® SHHGR el
D. difthes SHMGR A&
E. Sf-ifdd Sfaedl
4 feu e ol & 9 9ed Iugad SN &1 994 Siferu:
1. A, B,C,D,E
2. b,CA,B,E
3. B, E,D,C,A

4, E,A,B,C,D



Options :

920906101721. 1
920906101722. 2
920906101723. 3
920906101724. 4

Question Number : 32 Question Id : 92090625743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an identified domain of learning:
1. Hereditary
2. Cognitive
3. Conative
4. Affective

Options :

920906101725. 1
920906101726. 2
920906101727. 3
920906101728. 4

Question Number : 32 Question Id : 92090625743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fProfefea & & & st &1 e T &
1. JUHIHAT
2. TS
3. fourer®
4. UHdIHD
Options :
920906101725. 1
920906101726. 2

920906101727. 3
920906101728. 4



Question Number : 33 Question Id : 92090625744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Spirituality was the main aim of education during
1. Modern Period
Vedic Period

Islamic Period

oW

Post-vedic Period

Options :

920906101729. 1
920906101730. 2
920906101731. 3
920906101732. 4

Question Number : 33 Question Id : 92090625744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fep p1al H 14 7 {1 I S1UTH UT?

1. MYFEE FHTd
2. dfe® HId

3. SIS BId

4. Uy e &d

Options :

920906101729. 1
920906101730. 2
920906101731. 3
920906101732. 4

Question Number : 34 Question Id : 92090625745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Open ended questions are more suitable to get more candid
information from respondents.

Reason R: Open ended questions provide an opportunity to go beyond the
closed option of Yes or No as it gives scope for better expression.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. Ais not correct but R is correct
Options :
920906101733. 1
920906101734. 2

920906101735. 3
920906101736. 4

Question Number : 34 Question Id : 92090625745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP FYARUTE | gl Y dF & TUH A R TR FYA FRU & FY AR
fergifad fear man g -
dd A: Favararsi I fFrede Iar uid &3 & e o uyr Sifds gevl g

SO R: Yo WY, 99 U faheg oI €1 / 181 ¥ 31f¥e dgar sifiafad &1 sfaw
WeH #d g

SuYe Syl H 3fcies #, Au e el # | 6l IR &1 997 DI
1. ARREHIYEIE 3R R, A DI UL AR B
2. ASIRREFIHEIE SRR, A DI TSI B8] &
3. AGSI g AP R UG TSI B
4. AUEI TR g ABTR TR G

Options :



920906101733. 1
920906101734. 2
920906101735. 3
920906101736. 4

Question Number : 35 Question Id : 92090625746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A is mortal, B is mortal, A and B are men. Therefore men are mortal. This type
of logical reasoning is
1. Abstract
Absurd

Deductive

B ow N

Inductive

Options :

920906101737. 1
920906101738. 2
920906101739. 3
920906101740. 4

Question Number : 35 Question Id : 92090625746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATHRE, BAMR I ASHR B W™ ¢ | ST A %R 81 39 UPR &l dlibd
GEZ

1. A
2. &
3. A

4. ITHA

Options :

920906101737. 1
920906101738. 2
920906101739. 3
920906101740. 4



Question Number : 36 Question Id : 92090625747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il
LIST | LIST Il
A. University Education Commission . DS. Kothari
B. Secondary Education Commission IIl. S. Radhakrishnan
C. Education and National Development Ill. Yashpal
D. Learning without Burden IV. M. Mudaliar
1. A-l, B-IV, C-lil, D-lI

2. A-Ill, B-lll, C-1V, DI

3. A-ll, B-IV, C-l, D-liI

4. A-l, B-llIl, C-Iv, D-lI
Options :

920906101741. 1
920906101742. 2
920906101743. 3
920906101744. 4

Question Number : 36 Question Id : 92090625747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gt 1 61 gl 1 9 e Sifse

gl gt

A. fayfa=mey fRren smarm 1. S vy, Sieil
. Hreafhes e smanT 1. . AU UH
ReriRApfae . TR

. Ranfenas® V. TH. HeTferR

1. A-l, B-Iv, C-llI, D=1l

m|m

M

=

2. A-l, B-lll, C-1V, D-I
3. A-ll, B-IV, C-I, D-lIl

4. A-l, B-lll, C-1v, D-ll

Options :

920906101741. 1
920906101742. 2
920906101743. 3
920906101744. 4

Question Number : 37 Question Id : 92090625748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Advait Vedant philosophy was propounded by:
1. Gautam
2. Manu

3. Ramanujacharya

4

. Sankaracharya

Options :

920906101745. 1
920906101746. 2
920906101747. 3
920906101748. 4

Question Number : 37 Question Id : 92090625748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3gd ded 22 1 fFua ufoure faan:
1. TaH

2. U
3. YMHCE™
4. YA

Options :

920906101745. 1
920906101746. 2
920906101747. 3
920906101748. 4

Question Number : 38 Question Id : 92090625749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Swami Vivekanand was influenced by Swami Ramakrishna.

Statement Il: Swami Vivekanand's education remains confined to
Ramkrishna Mission Ashrams

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4

Statement | is incorrect but Statement Il is correct

Options :

920906101749. 1
920906101750. 2
920906101751. 3
920906101752. 4

Question Number : 38 Question Id : 92090625749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR FFRUmE:
Y |- W [daBTe WH IHSWT F UHIfad 91

HY 11 T [AadTe 1 9 e g e sl 7 g5
SuYer HYl & i #, AU e el § 4 9t IR &1 994 B
1. ®YF 1R NGAI Td &
2. @Y1 3R 1A AT
3. BYT | A g, Afthd Y 1 ST &
4. TYF | A g, Al Y 1 T &

Options :

920906101749. 1
920906101750. 2
920906101751. 3
920906101752. 4

Question Number : 39 Question Id : 92090625750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘Gestalt' School of learning is associated with.
1. Germany

2. Japan

3. Russia

4

India

Options :

920906101753. 1
920906101754. 2
920906101755. 3
920906101756. 4

Question Number : 39 Question Id : 92090625750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TReTee T &1 feaR fFa A Jergsn gl
1. WHA

2. U+
3. 4
4. Hd

Options :

920906101753. 1
920906101754. 2
920906101755. 3
920906101756. 4

Question Number : 40 Question Id : 92090625751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The four types of vocational educational institutions must be opened viz.
Trade schools Junior Vocational schoaols, Senior Vocational schools and
Technical colleges is the recommendation of:

1. Macaulay Minutes - 1835
Kothari Commission - 1964
Wood and Abbott Report - 1937
NEP - 1986

= W

Options :

920906101757. 1
920906101758. 2
920906101759. 3
920906101760. 4

Question Number : 40 Question Id : 92090625751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR UHR & ATHIAD RI&01 GIF S- T8 T, R dibgHd Wod, HiFR
B WDl 3R db-Id] HelfdeTead Gid o+ I1fgu | $HH! RImTa 8-

1. HTal fdarul - 1835

2. DGR AT - 1964

3. 98 SR Uale yidded - 1937
4. 1PTY fRren Hifd - 1986

Options :

920906101757. 1
920906101758. 2
920906101759. 3
920906101760. 4

Question Number : 41 Question Id : 92090625752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Education and Religion are similar to each other.
Reason R: Both lead to spiritual self actualization.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4

. A is not correct but R is correct

Options :

920906101761. 1
920906101762. 2
920906101763. 3
920906101764. 4

Question Number : 41 Question Id : 92090625752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

14 G HYA ST B | Ugell HYA dh & TUH A 3R G HYA SRU b FYHR
fergifed fbarman g .

d A: e 3R of ueh gE & I ¢
HRUIR: G 8] TS ATHT Y&THR B 3R o I &

ST HYAT & 3MTelids 1, fGU U fawedi T Q Ugl 3R &l 99+ Hifolu:
1. ASMRRGHTTE & IR R, A P! UL ARSI &
2. AR RGHIHEl g SRR, A D! U ARSI 8] &

3. A9 g Al R UE A8
4. ATAA e AfPIRTE B

Options :

920906101761. 1
920906101762. 2
920906101763. 3
920906101764. 4

Question Number : 42 Question Id : 92090625753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first school for girls in India was opened by:
1. Ramabai Ranade
2. Mirabai
3. Savitribai Phule
4. Ahilyabai

Options :

920906101765. 1
920906101766. 2
920906101767. 3
920906101768. 4

Question Number : 42 Question Id : 92090625753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRd W asfdhdl & fore Ugan wpd fobddh gRT @il Tr?
1. YHERE IS
2. HRIETE
3. Hifadlars B
4. g arg

Options :

920906101765. 1
920906101766. 2
920906101767. 3
920906101768. 4

Question Number : 43 Question Id : 92090625754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ranks people or objects on a scale of equal units.
1. Nominal scale

2. Ordinal scale

3. Interval scale
4

. Ratio scale

Options :

920906101769. 1
920906101770. 2
920906101771. 3
920906101772. 4

Question Number : 43 Question Id : 92090625754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T3 YA AT DI RIS IDbTs &b Y R Jofidg FA1 8|
1. =TT ATOH
2. it AT
3. 3T A
4. Ui A

Options :

920906101769. 1
920906101770. 2
920906101771. 3
920906101772. 4

Question Number : 44 Question Id : 92090625755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | LIST I
A. National Education Policy - 2020 I. K. Kasturirangan
B. Education and National Development Il. D.S. Kothari
C. Review Committee - 1986 lll. Sam Pitroda
D. National Knowledge Commission IV. A. Rammurti

1. A-l, B-ll, C-lll, D-1V

2. A-ll, B-lll, C-1, D-IV

3. A-lil, B-IV, C-ll, D-

4. A-l, B-lI, C-1V, D-lll
Options :

920906101773. 1
920906101774. 2
920906101775. 3
920906101776. 4

Question Number : 44 Question Id : 92090625755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl 1 BT gl 1 ¥ fraE siferg
LGl gl
A. BT faT IR - 2020 1. & HIH FH

B. fgm iR AP e . S vy sigr
c. GIeor Biedt - 1986 . IH U=
D. BTG FH 3 V. T

1. A-l, B-ll, C-lll, D-1V
2. A-ll, B-lll, C-1l, D-1IV
3. A-lN, B-Iv, C-11, D-l

4. A-l, B-1l, C-IV, D-III

Options :

920906101773. 1
920906101774. 2
920906101775. 3
920906101776. 4

Question Number : 45 Question Id : 92090625756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"The Beautiful Tree" is written by-
1. Dharmpal
Narendra Deo

Mahatma Gandhi

oW N

Anil Sadagopal

Options :

920906101777. 1
920906101778. 2
920906101779. 3
920906101780. 4

Question Number : 45 Question Id : 92090625756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T SIGd ¢ fhad gRI foran T -
1. HgTd
2. g ed
3. W e
4. FT T

Options :

920906101777. 1
920906101778. 2
920906101779. 3
920906101780. 4

Question Number : 46 Question Id : 92090625757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: UGC - Care List has improved the quality of research writing in
India.

Reason R: Quality publication and writing of research papers are increasing
in the country.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct

Options :

920906101781. 1
920906101782. 2
920906101783. 3
920906101784. 4

Question Number : 46 Question Id : 92090625757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



12 Sl Py UITU § | Ugell &Y dh & TUH A 3R GO HY HRU & YT R
fegifea fpgr g .

TP / HHYT A: U T TG &1 [0ra1 B g ol 4. Ha P 961 381 gl
HRUIR: T UG R UHTIH SR Qe U 66 9¢ W8T 2
12 feu e fas ol & 8 998 Iuged IR &1 994 ST

1. AR REH FE € SRR, A BT YS! TS &

2. AR REH G § SRR, A B Aol AR 5l &

3. AYE g Al R USRI R

4. AUEITEIR APIR T

Options :

920906101781. 1
920906101782. 2
920906101783. 3
920906101784. 4

Question Number : 47 Question Id : 92090625758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not Non-Probability sampling
1. Quota Sampling
2. Snowball Sampling
3. Multistage Cluster Sampling
4

. Convenience Sampling

Options :

920906101785. 1
920906101786. 2
920906101787. 3
920906101788. 4

Question Number : 47 Question Id : 92090625758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafefea § 3 oF-a1 e ufae sl 9g+ fafi 781 3
1. @iel ufaed 9g
2. Wsia ufdesiag4
3. SRR Fave] ufdes 994
4. gfauRs ufie 9g4

Options :

920906101785. 1
920906101786. 2
920906101787. 3
920906101788. 4

Question Number : 48 Question Id : 92090625759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement |: The more students elaborate upon new ideas, the deeper their
understanding and better their memory for improving knowledge.

Statement II: Knowledge and memory are closely related variables.

In the light of the above statements, choose the correct answer from the
options given below:

ek

Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4

Statement | is false but Statement Il is true

Options :

920906101789. 1
920906101790. 2
920906101791. 3
920906101792. 4

Question Number : 48 Question Id : 92090625759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R HyEREE:

FYF 1: F ford1 sifiid 7u faarl &1 [9wRu &l § 393! 0 Ted 8ldl &
3R 17 TiteA & fere wgfom +ft dear g1t St €

Y 11: TH IR Ffdl Abe TrEidd R g
SuYge Byl B el H, AU T el # A Ot IIR &1 997 S
1. ®YF AR 1 GH T &
2. HYT | 3R 11 SHT A E
3. BY I T g, Afh HYT 1 ST B
4. BYF | T g, Aldhd YA 11 FA &

Options :

920906101789. 1
920906101790. 2
920906101791. 3
920906101792. 4

Question Number : 49 Question Id : 92090625760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hoshangabad Science Teaching Programme was started in the state of
1. Uttar Pradesh
2. Bihar
3. Rajasthan
4. Madhya Pradesh

Options :

920906101793. 1
920906101794. 2
920906101795. 3
920906101796. 4

Question Number : 49 Question Id : 92090625760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TIRIATETS fag e Srdwn 6w g 8 = gai |
1. IR Y™
2. fagrR

3. SR
4. AOYSY

Options :

920906101793. 1
920906101794. 2
920906101795. 3
920906101796. 4

Question Number : 50 Question Id : 92090625761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct statements:

A. Mean is an arithmetic average.

B. Median is not the mid point of distribution.

C. Standard Deviation tells about regularity in data.
D

. In normal probability curve, Mean, Median and Mode falls at extreme
points.

E. Mode is approximate measure of central tendency.

Choose the correct answer from the options given below:
1. Cand D only

A, B and D only

C, D and E only

A, B and E only

BowoN

Options :

920906101797. 1
920906101798. 2
920906101799. 3
920906101800. 4

Question Number : 50 Question Id : 92090625761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

el PUA BT IUA DY
A. HEHM T S Gd B
B. Wl avffeul &1 A fafg 18T 81
c. YA faaeH ugdl § Fafidar &1 adrd g |
D. WM YIS deh UR HeqHH, ] 3R dgad Us oY W iR 81
E. Sgdid, Bisd Ughl &1 Guifdd ArgT g1
1 feu e faeh ol # | e Iugerd 3Tk &1 99 Sifoi:
1. ®4gdC 3R D
2. HadA, B3ARD
3. ®adc, D ARE
4. HAAA, B INE

Options :

920906101797. 1
920906101798. 2
920906101799. 3
920906101800. 4

Question Number : 51 Question Id : 92090625762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'People’s Education Society' was founded by that opened colleges
namely Siddharth college in Bombay and Milind college in Aurangabad.

1. Babasaheb B.R. Ambedkar
2. Acharya J.B. Kripalni

3. Madan Mohan Malviya

4. Gopal Krishna Gokhale

Options :

920906101801. 1
920906101802. 2
920906101803. 3
920906101804. 4



Question Number : 51 Question Id : 92090625762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IYeH Uoh A WA &1 TA] & gRIgs, forei ane o Rygrd
HerdTad ayr simere § fife<s wefdeey G|

1. 141 digd HIRTE sraadh
2. &M S HaaE

3. Ha HIgd HIGdY

4. "I 91 MEd

Options :

920906101801. 1
920906101802. 2
920906101803. 3
920906101804. 4

Question Number : 52 Question Id : 92090625763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: Handwritten manuscripts could not meet the ever increasing
demands for books.

Reason R: Chinese paper reached Europe via silk route.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A

A is correct but R is not correct

b W N

A is not correct but R is correct

Options :

920906101805. 1
920906101806. 2
920906101807. 3



920906101808. 4

Question Number : 52 Question Id : 92090625763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 A FYA RUTTE | Uge YA b & FUH A 3R TR YA FRU S FY T R
fgifera fra man g -
b A: fddral @1 dgdl Ji B gfd gxafarad siteal § of 181 8l 9ol
ST R: 131 & 0 Ried ¢ 9 g0 9 Y|
e Y=l & 3irciep H, AU e fasedi # § Ul I &1 9= S

1. AR REHI Gl § HRR, A D! &l ATSN &

2. AR RGHI el g 3R R, A DI Hel AR el &

3. AWEE Al R e TET R

4. ATSI TSR APIRTEIR

Options :

920906101805. 1
920906101806. 2
920906101807 3
920906101808. 4

Question Number : 53 Question Id : 92090625764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"I never teach my pupil, | only attempt to provide the conditions in which
they can learn” -Albert Einstein.
The term 'Conditions' denotes-
1. Social
Cultural

Environment

AW

Political

Options :
920906101809. 1
920906101810. 2



920906101811. 3
920906101812. 4

Question Number : 53 Question Id : 92090625764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"B 30 Rred) &1 it 98 uerdn| B9 Faw 3% uRifRufedl 3 1 gag &t ford
98 UG 9" | - fesc Hg~Heg
B (URFUR) U 13 81 -

1. HHA

2. U&pfd
3. didiado
4. eI

Options :

9209061018009. 1
920906101810. 2
920906101811. 3
920906101812. 4

Question Number : 54 Question Id : 92090625765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement |: Gender as masculine or feminine is a social construct.
Statement II: Sex as male or female is a biological construct.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4

Statement | is incorrect but Statement |l is correct

Options :
920906101813. 1



920906101814. 2
920906101815. 3
920906101816. 4

Question Number : 54 Question Id : 92090625765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR mE:
YT 1: TS SR g & ¥4 8 9A g1 i fea marg |
Y 11: fei1 Afge iR 4oy 3t Sifdd e gl
SUad HYHT & fTaid 1, U T fadeul I 9 981 IR &1 994 Hifolt:
1. YT 3R 1 Tel 8
2. ®YF 1 3R 1 SHI AT §
3. HY 1 Tel &, AP HY 1 7Tad &
4. BYH 7T g, AfeA Y 11 T 8

Options :

920906101813. 1
920906101814. 2
920906101815. 3
920906101816. 4

Question Number : 55 Question Id : 92090625766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Swayam Prabha is-
1. A book
2. Online learning platform/channel
3. A tourist destination
4. Online shopping platform
Options :
920906101817. 1

920906101818. 2
920906101819. 3



920906101820. 4

Question Number : 55 Question Id : 92090625766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WU &

1. fhaE
2. TS f&UL-3HfeRTH WewlH / 9-d
3. ¢hwe SReAwm
4. Si-Tcg MY Tehid

Options :

920906101817. 1

920906101818. 2

920906101819. 3
920906101820. 4

Question Number : 56 Question Id : 92090625767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which does not belong to Guilford's model of intellect.
A, Intellectual activity can be described in the basic parameters.

B. There is a hierarchical structure for the organisation of human
intelligence.

C. Intelligence consists of 150 abilities.
D. There are six types of products.
E. There are five types of operation and contents.

Choose the most appropriate answer from the options given below:

1. Bonly

2. Conly

3. Aonly

4. C,Dand E only
Options :

920906101821. 1



920906101822. 2
920906101823. 3
920906101824. 4

Question Number : 56 Question Id : 92090625767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIA®IE & g B W11 8 19 91 Hag Tel 8

A. Sifge TAfaitRl 36 ST IRTHieR | SAReATd 8l ol g
B. U4 §fg & a1 H USHm I g1

. §fg # 150 ArOan g 2

D. &: YR & IdIE gl

E. Ul UbR &1 Hfeham ¢k fawa axg g

412 fu U fas el # 8 Ty IUgd] IR 1 994 Pl
1. Hdds
2. Fadc
3. FAAA
4. Padc, D ARE

Options :

920906101821. 1
920906101822. 2
920906101823. 3
920906101824. 4

.

Question Number : 57 Question Id : 92090625768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Kert Lewin (1890 -1947) has proposed-
1. Insight Theory
2. Humanistic Theory
3. Information Processing Theory
4,

Field Theory

Options :



920906101825. 1
920906101826. 2
920906101827. 3
920906101828. 4

Question Number : 57 Question Id : 92090625768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e dfd- (1890 -1947) 7 UEATfad -

1. 3ide® & s
2. HHddmErd] fagid
3. oA ufehar fgid
4. &7 fusia

Options :

920906101825. 1

920906101826. 2

920906101827. 3
920906101828. 4

Question Number : 58 Question Id : 92090625769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One can use median when one wants to find out:
1. Average of the given data.
Variance in the given data.

Correlation in the given data.

W M

Mid point of the given data.

Options :

920906101829. 1
920906101830. 2
920906101831. 3
920906101832. 4

Question Number : 58 Question Id : 92090625769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HITRIHT BT WIRT {601 S bl & id g1 W H1 918d -
1. feu e vei &1 ofvrd
2. fRuTMuyCESH faaeA
3. f3u U el &1 wgdiey
4. fRumMuyeHi 1Ay fag

Options :

920906101829. 1
920906101830. 2
920906101831. 3
920906101832. 4

Question Number : 59 Question Id : 92090625770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What was the chief aim of Education in Ancient period.
Physical Development

Spiritual Development

Moral Development

Enhancement of knowledge

m o N wm >

Social Development

Choose the correct answer from the options given below:
1. A Bonly

B, D only

C, D, E only

A, C, Eonly

ol

Options :

920906101833. 1
920906101834. 2
920906101835. 3
920906101836. 4



Question Number : 59 Question Id : 92090625770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dfe® P17 218 &1 ey SExg |1 U?

A. IRIRNG faer™

B. THIES s

S IGCAGEL

D. FHAEaLH

E. G A

i e e fas el 7 & Fet I &1 994 DI
1. ddA, B
2. &ddsB,D
3. &ddC,D,E

4, HAAA,CE

Options :

920906101833. 1
920906101834. 2
920906101835. 3
920906101836. 4

Question Number : 60 Question Id : 92090625771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement |: Socio-economic status and school achievement are often
correlated.

Statement Il: The longer a child lives in poverty, the greater impact on
achievement.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect

Statement | is correct but Statement [l is incorrect

oW M

Statement | is incorrect but Statement Il is correct

Options :

920906101837. 1
920906101838. 2
920906101839. 3
920906101840. 4

Question Number : 60 Question Id : 92090625771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GIECICIC G
FYA 1: GHATE- 3P TR 3R Afée Iuafs urg: Ggddid g |

Y 11: o7 T IHY dF g THIE! | oitdl § 391 81 dal U It
IUdte WUSdigl

Y Sl B 3l 1, AU e fdaedi @ Ul Iav &1 994 B
1. @Y1 R 1 SHI g 8
2. YA R 11 I TTAd &
3. Y19 g, Tfh HY 1 7Tad &
4. HYF 17 g, AfBA HYH 11 T 8

Options :
920906101837. 1
920906101838. 2



920906101839. 3
920906101840. 4

Question Number : 61 Question Id : 92090625772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who proposed the hierarchical structure of needs-
1. E. Maslow
2. Abraham Maslow
3. Carl Rogers
4

. Jean Piaget

Options :

920906101841. 1
920906101842. 2
920906101843. 3
920906101844. 4

Question Number : 61 Question Id : 92090625772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ISl BT UaIehiie fgid foad grr ufduifed faar mar
1. 3.9l
2. 3fsTeH Aual
3. @A oy
4. o foart

Options :

920906101841. 1
920906101842. 2
920906101843. 3
920906101844. 4

Question Number : 62 Question Id : 92090625773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The children who are good in mathematics will be good in every other
subject. This statement will be supported by:

1. Multi Factor Theory of Intelligence
2. Spearman's Two Factor Theory
3. Guilford's Model of Intellect

4. Unitary Theory of Intelligence

Options :

920906101845. 1
920906101846. 2
920906101847. 3
920906101848. 4

Question Number : 62 Question Id : 92090625773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d J1ce off 0T fawg H 38 id €, TUN oX a9 H of&d BId § | 39 U &1
YA fad g1 [ g »

Options :

920906101845. 1
920906101846. 2
920906101847. 3
920906101848. 4

Question Number : 63 Question Id : 92090625774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

LIST I LIST Il
A. Psycho social Development |. Kohlberg
B. Cognitive Development Il. Erik Erikson
C. Moral Development lll. Jean Piaget
D. Socio Cultural Development V. Vygotsky

1. A-ll, B-IV, D, D-llI
2. A-ll, B-lll, C-I, D-IV
3. A-ll, B-l, C-lll, D-IV
4. A-l, B-ll, C-Iv, D-liI

Options :

920906101849. 1
920906101850. 2
920906101851. 3
920906101852. 4

Question Number : 63 Question Id : 92090625774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 gl 1 ¥ aE sifere

gt gt

A. HAETHISE a6 . Higaat

B. TS fdPbr . uf¥es uftaH
c. Aft® faem . foF O
D. UMb Wi idd fabry v, diamesl

1. A-ll, B-IV, D-1, D-I

2. A-ll, B-lll, C-1, D-IV

3. A-ll, B-l, C-lll, D-IV

4. A-l, B-ll, C-Iv, D-lIl
Options :

920906101849. 1
920906101850. 2



920906101851. 3
920906101852. 4

Question Number : 64 Question Id : 92090625775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6 percent of the GDP must be spent on Education was the recommendation
of:

1. Kothari Commission

2. Mudaliar Commission

3. Radhakrishnan Commission
4

Chattopadhyay Commission

Options :

920906101853. 1
920906101854. 2
920906101855. 3
920906101856. 4

Question Number : 64 Question Id : 92090625775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GDP @1 6 Ul Rien W &4 g1 918y, I8 i fad! un
1. PIBRT AR

2. VGIerAY SaRT
3. YIHUME AR
4. FSUTEATY AT

Options :

920906101853. 1
920906101854. 2
920906101855. 3
920906101856. 4

Question Number : 65 Question Id : 92090625776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Social mobility is a process for social change.
Statement II: Social mobility cannot occur in closed caste based society.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect

Statement | is correct but Statement |l is incorrect

B oM

Statement | is incorrect but Statement Il is correct

Options :

920906101857. 1
920906101858. 2
920906101859. 3
920906101860. 4

Question Number : 65 Question Id : 92090625776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fa g sy RTME -

Y 1: GHTfore ufada & fere wmfores nfaefied v ufean g |
Y 11: GAToIE nfogiedn dg s srenfyd wars § gfed 78l 81 uadl|

SUE HYAT & 3fTeia |, fGu U fawedl § 9 UEl I’ &1 99 HIfeIT:

1. FYT IR A e g
2. HYT R NI A E
3. &Y 19! g Al FYAnTad g
4. YA 17T 8, AfBT YT 1 IS E

Options :

920906101857. 1

920906101858. 2

920906101859. 3
920906101860. 4

Question Number : 66 Question Id : 92090625777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
MOOC stands for:
1. Minimum Office Operation Center
Massive Open Online Courses

Maximum Open Offered Courses

fuo Aw o

Maximum Operational Open Courses

Options :

920906101861. 1
920906101862. 2
920906101863. 3
920906101864. 4

Question Number : 66 Question Id : 92090625777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MOOC @] BIdl &-
1. HifFTy Sy v =

2. AT 3fUA A B
3. AfGHAA 3T 31FS FEd
4. AFHAA TREEW 304 HrEH

Options :

920906101861. 1
920906101862. 2
920906101863. 3
920906101864. 4

Question Number : 67 Question Id : 92090625778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange in chronological order-

Right to Education Act (RTE)-
Right to Information Act (RTI)
Ram Murti Review Committee

Prof Yashpal Committee

m o N = P

Justice Verma Committee
Choose the correct answer from the options given below:
1. BACDE
2. CDBAE
3. ABCDE
4. EDCBA
Options :
920906101865. 1
920906101866. 2

920906101867. 3
920906101868. 4

Question Number : 67 Question Id : 92090625778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIAHHIR HdRYd BT ;
A. e &1 e (3R &5)-
B. I &1 HAUBR (3R 13MTs)
c. I geian i
p. Wl gegre wiafa
E. Sifeeq quf uffa
IuE HUl & TaD |, [Gu U Al # 3 Ul IR &1 99 S
1. BACD,E
2. CCD,B A, E
3. A B,CDOE
4. E,D,C, B, A

Options :
920906101865. 1
920906101866. 2



920906101867. 3
920906101868. 4

Question Number : 68 Question Id : 92090625779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

LIST | LIST Il
A. Humanistic Theory I. E.L. Throndike
B. Experiential Learning Il. Wolfgang Kohler
C. Insight Theory lll. Carl Rogers
D. Trial and Error Learning IV. Abraham Maslow

1. A-l, B-ll, C-llIl, D-1V
A-IV, B-1ll, C-l1, D
A-lll, B-II, C-I, D-IV
A-ll, B-1ll, C-1V, D-I

o W R

Options :

920906101869. 1
920906101870. 2
920906101871. 3
920906101872. 4

Question Number : 68 Question Id : 92090625779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl B gt i 9 feE sifse

el T

A. AHadEd figid 1. 3. T YFHeR®
15 30 B £ Lo S | s (2R3 ) (G A S
 deerfagid . ore ded

. Ugd Ua goyd Al v, srsmeH fal

1. A, B-ll, C-lI, D-IV

m

.

=9

2. A-IV, B-llI, C-Nl, D-I
3. A, B-Nl, C-1, D-IV

4, A-ll, B-1iI, C-1V, D-l

Options :

920906101869. 1
920906101870. 2
920906101871. 3
920906101872. 4

Question Number : 69 Question Id : 92090625780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ICT stands for:

1. Internations Communication Technology

2. Information and Communication Technology
3. Internals Communication Technology
4

Informative Communication Technology

Options :

920906101873. 1
920906101874. 2
920906101875. 3
920906101876. 4

Question Number : 69 Question Id : 92090625780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



318, |, 1. (1cT) 1 i i &-

1. $CYAE UUE HYFASHRHE Sl
2. ZHIHYA UUS G Saarel
3. $C3d UUS HIYAHTE Sl
4. SpTHICT UUS HRIAGYA caHaral

Options :

920906101873. 1

920906101874. 2

920906101875. 3
920906101876. 4

Question Number : 70 Question Id : 92090625781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Binet and Simon formulae to calculate 1Q is: (CA-Chronological Age, MA-
Mental Age)

MA>100 _

|
, 2 CA Q
2. CA—-MA=1Q-10
CA .
3. MA

4 CAxMA=1Q-100

Options :

920906101877. 1
920906101878. 2
920906101879. 3
920906101880. 4

Question Number : 70 Question Id : 92090625781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& 3TR TTEHA F1 FfETHe0r B 0T HIA HTE B-

(CA-Chronological Age, MA-Mental Age)

MA X100 _

|
1. CA Q
2. CA-MA=1Q-10

CA
= =1Qx10
3. MA

4, CAxMA=1Q-100

Options :

920906101877. 1
920906101878. 2
920906101879. 3
920906101880. 4

Question Number : 71 Question Id : 92090625782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following chronologically by the year of their foundations:
A UGC

NCERT

NCTE

IGNOU

NAAC

M Bt 5

Choose the correct answer from the options given below:
T =Bl BB

A-B--D-C-E

A=E=BD-E-R

oW on

B-A-E-D-C

Options :

920906101881. 1
920906101882. 2
920906101883. 3
920906101884. 4



Question Number : 71 Question Id : 92090625782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RO 99 & YR R FgfiEd Sersi S SrepHAraR Jafeyd Siford :

A. ol (UGC)
B. UAHIS3RET (NCERT)

. YIS (NCTE)

D. SY(IGNOU)
E. UAU U 4. (NAAC)
= feu e fashedt # 9 et 3R 61 99 i
1. A~E-C-D-B
3 A-B=D=C-=E
3. A~-C-D-E-B
5. B-A-E-D-C

Options :

920906101881. 1
920906101882. 2
920906101883. 3
920906101884. 4

Question Number : 72 Question Id : 92090625783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are not directive principles:

A. State shall secure order for the promotion of the welfare of the people.
State shall work to provide employment and education.

State shall promote scientific temper.

Universal Franchise.

m o o,

Judicial Review.

Choose the most appropriate answer from the options given below:
1. A B, Conly

2. Dand E only

3. Band Conly

4. Aand C only

Options :

920906101885. 1
920906101886. 2
920906101887. 3
920906101888. 4

Question Number : 72 Question Id : 92090625783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofefea # & & @ e o1 Rigia T8 8-
A. HIFd S0 & HaeH §q I & &/ Haed ST gl
B. ISHTR 37 & YaM 63 & [y I &1 B HIA1 8|
C. IS0 B AN HAIG B d I gHT|
D. WAt gt R
E. IR iem
12 feu e fassedi & § Had Iuged IR &1 997 Fifo:
1. &dd A, B, C
2. HaAAD IARE
3. $dds 3R C
4. HAAASRC



Options :

920906101885. 1
920906101886. 2
920906101887. 3
920906101888. 4

Question Number : 73 Question Id : 92090625784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following thinkers in historical order:
Montessori
Rousseau
Dewey

Froebel

m o nNn w @

Aristotle

Choose the correct answer from the options given below:
1. EACB;D

E.BDCA

A GCIDES

ABECD

AW

Options :

920906101889. 1
920906101890. 2
920906101891. 3
920906101892. 4

Question Number : 73 Question Id : 92090625784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Foafaiad fide! @1 Udeiie oo o oaftyd Sifer .
A. HieHd

B. &4l

c. Sl

D. Blgd

E. 3]
At feu U faehedl & 8 Ut 3T’ &1 90 ife:
i. E,A,C,B,D
2. E,B,D,C,A
3. A,C,D,E,B
4 A,B,E,C.D
Options :
920906101889. 1
920906101890. 2

920906101891. 3
920906101892. 4

Question Number : 74 Question Id : 92090625785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OER stands for
1. Offline Educational Resources
Online Educational Resources

Offline Online Educational Resources

A W N

Open Educational Resources

Options :

920906101893. 1
920906101894. 2
920906101895. 3
920906101896. 4

Question Number : 74 Question Id : 92090625785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

OER @RI & -
1. HHARA TSI IEE
2. ST TSI G
3. SR AR ThAd A8
4. 30 U AHRTE

Options :

920906101893. 1
920906101894. 2
920906101895. 3
920906101896. 4

Question Number : 75 Question Id : 92090625786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is not true for Educational Technology:

1. It helps in effective learning
2. It helps in classroom management
3. It makes learning joyful
4. It can replace the teacher

Options :

920906101897. 1

920906101898. 2

920906101899. 3
920906101900. 4

Question Number : 75 Question Id : 92090625786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Qféres da-iep! & fawa A Aafefaa § @ s gt =21 g»
1. T Wl St H Heg Rl g
2. Ug B Yy H HeE S g |
3. U8 N & 3eyS ¥ B
4. U8 R &1 ufarifid s gdhd g

Options :

920906101897. 1
920906101898. 2
920906101899. 3
920906101900. 4

Question Number : 76 Question Id : 92090625787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the
other is labelled as Reason R

Assertion A: National Education Policy - 2020 is the most promising policy
document of the post-independent India.

Reason R: National Education Policy - 2020 provides the opportunity for
globalising Indian knowledge system.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais correct but R is not correct
4. Ais not correct but R is correct
Options :
920906101901. 1
920906101902. 2

920906101903. 3
920906101904 4

Question Number : 76 Question Id : 92090625787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

14 8 HuA RU MU § | Ugell HY b & TUH A IR g HYA HRU & FYHR
fegiferd T T 8

P A: HRd BT TSI & T, AP fR1& i 2020 T Smrmse =ifd
XIaH & |

SR R: APTY FRef A -2020, HRAE T AR ST GAHIHS B 8 SaWR
e Sl B

I YT & HTad 1, U 7 fadbedt I § UEl IR &1 994 Hiforu:
1. A SRR EFI TSI § 3R R, AT UEI RS &
2. AR REFI TSI 3R R, A DI A TR T8l &
3. AWE!E Al RS TEl 8
4. AN TRIGAPIR UG E

Options :

920906101901. 1
920906101902. 2
920906101903. 3
920906101904 4

Question Number : 77 Question Id : 92090625788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The 'discovery method' of teaching also known as -
1. Lecture method
Problem solving method

Heuristic method

Wk

Demonstration method

Options :

920906101905. 1
920906101906. 2
920906101907. 3
920906101908. 4

Question Number : 77 Question Id : 92090625788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e &t @t fafer s am § ot Sl S g 9 -
1. M fafy
2. O gAY fafy

3. ggRfes iy
4. veSH fafy

Options :

920906101905. 1
920906101906. 2
920906101907 3
920906101908. 4

Question Number : 78 Question Id : 92090625789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 5E's instructional model based on contructivist theory of learning does
not include.

1. Engage
Elaborate

Evaluate

oW oM

Eradicate

Options :

920906101909. 1
920906101910. 2
920906101911. 3
920906101912. 4

Question Number : 78 Question Id : 92090625789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST & HXaHar) Rigid W siuiiid se ek Afsa & Fafaed § @ @
E el 87

1. 7S (HaH)

2. UAERE (fawrom

3. SAQUE (FediaH)

4. WIEHT ([AeT)

Options :

920906101909. 1
920906101910. 2
920906101911. 3
920906101912. 4

Question Number : 79 Question Id : 92090625790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il
LIST | LIST Il
A. NCERT |. Social Science Research
B. UGC Il. Technical Education
C. AICTE Ill. Higher Education
D. ICSSR V. School Education
1. A-IV, B-lll, C-ll, D-I
A-l, B-1l, C-1lI, D-IV
A-1, B-1Il, C-ll, D-IV
A-ll, B-lI, C-I, D-IV

ol

Options :

920906101913. 1
920906101914. 2
920906101915. 3
920906101916. 4

Question Number : 79 Question Id : 92090625790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

AT 1 &1 gl 1 ¥ e Siferg

il gt i
A. TAHI S R (NCERT) 1. WIS A9 SrqRiy™
B. Juil Hl(UGC) I 3= e

USMS T ES (AICTE) 1. ThATam] e
D. MTSHTHUHSNR (Icssr) Iv. faemmerdt fren

1. A-lV, B-lll, C-1l, D-l

.

2. A-l, B-ll, C-lll, D-1V
3. A, B-lll, C-ll, D-1V

4. A-ll, B-lll, C-I, D-1V

Options :

920906101913. 1
920906101914. 2
920906101915. 3
920906101916. 4

Question Number : 80 Question Id : 92090625791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The structure of education is given by NEP 2020-
10+2+3
Multiple Entry - Multiple Exit
5+3+3+4

Academic Bank of Credits

m O 0O »m p

Discipline Specific Education

Choose the correct answer from the options given below:
1. B,C Donly

A, B only

C, D, E only

B, E, A only

W oN



Options :

920906101917. 1
920906101918. 2
920906101919. 3
920906101920. 4

Question Number : 80 Question Id : 92090625791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIETY R Hifd-2020 F GR 01 17 R181 B W= &1 W 0-
A 10+2+3
B. Wgwaid WAy 3R fAfH
C. 5+3+3+4
D. UheiHd dd 3 thise
E. Fgid fadm fran
-2 feu 1Y fasedt 7 4 Hel IR 31 98 SIforg:
1. $ddB,C,D
2. HAdA,B
3. $gUC,D,E
4. HAAB, E A
Options :
920906101917. 1
920906101918. 2

920906101919. 3
920906101920. 4

Question Number : 81 Question Id : 92090625792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The two main branches of Jainism are:
A. Narampanthi and Charampanthi
Sunyavad and Vigyanvad
Digambar and Svetambar
Nirankari and Nihang

Sukhvad and Dukhvad

L B

Choose the most appropriate answer from the options given below:
1. Aand D aonly

B and E only

A only

ol R

C only

Options :

920906101921. 1
920906101922. 2
920906101923. 3
920906101924. 4

Question Number : 81 Question Id : 92090625792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O G & < BT Wl § -
A. TR UAT 3R T Tedt
B. YUAIG 3R fagarg
c. fameR 3ik JansRr
p. P& iR FEm
E. EdIg 3R g:@dig
e feu 7 faredl W 9 el IT &1 994 SIfee:

1. $AdAMRD

2. Had s IARE

3. HadA

4. FHATUC



Options :

920906101921. 1
920906101922. 2
920906101923. 3
920906101924. 4

Question Number : 82 Question Id : 92090625793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Shiksha Mein Badlav Ka Sawal' is written by-

1. Krishna Kumar
2. Anil Sadgopal
3. Chand Kiran Saluja
4. Ambika Datta

Options :

920906101925. 1

920906101926. 2

920906101927. 3
920906101928. 4

Question Number : 82 Question Id : 92090625793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21811 7 9eard &1 Harer foral 71 § 596 g1 -

1. U FAR

2. HFE TR
3. dig o |l
4. 3fffgdrad

Options :

920906101925. 1
920906101926. 2
920906101927. 3
920906101928. 4



Question Number : 83 Question Id : 92090625794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Teaching Style' refers to-
1. Teaching strategies and methods
2. Content and Lectures
3. Classroom management
4

Model of Teaching

Options :

920906101929. 1
920906101930. 2
920906101931. 3
920906101932. 4

Question Number : 83 Question Id : 92090625794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rragor Seft Welfdr 3-
1. Teorfafy siRsgg @
2. v o SR A 9
3. PETUGYT Y
4. & d giaa 9

Options :

920906101929. 1
920906101930. 2
920906101931. 3
920906101932. 4

Question Number : 84 Question Id : 92090625795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following does not belong to the Technical-Scientific models of
Curriculum Development

1. Carl Roger's Inter Personal Model
Hilda Taba's Model
Goodlad's Model

B WM

Hunkin's Developmental Model

Options :

920906101933. 1
920906101934. 2
920906101935. 3
920906101936. 4

Question Number : 84 Question Id : 92090625795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yreadH [d&™ & de-ie! aqi-e UiaHH I &4 91 S&ied T8 -
1. ®Td Ao &1 Sidaiadsd Ufaa
2. fecei-amEr ufda™

3. T[Sus ufauH
4. gt o1 [dpr™ ufcqaE

Options :

920906101933. 1
920906101934. 2
920906101935. 3
920906101936. 4

Question Number : 85 Question Id : 92090625796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following by chronological order:
A. Macaulay Minutes

Indian University Commission

Calcutta University Commission

. Wood's Despatch

m Q9 W

Sargent Plan

Choose the correct answer from the options given below:
T B DB C

C.DE. AR

AD,B,C,E

oW N

Dih:BE C

Options :

920906101937. 1
920906101938. 2
920906101939. 3
920906101940. 4

Question Number : 85 Question Id : 92090625796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HABHYR Fofafad o srafld i
A. A&Td faaro
B. MR fayfaemrey smam
C. DAl f[ayfdered smam
pD. g8 e
E. WToie groH
1 f3u T fas el & 4 wel I &1 9g- S
1. A,B,D,E,C
2. C,D,E,A,B
3. AD,B,C,E
4. D,A,B,E,C

Options :



920906101937. 1
920906101938. 2
920906101939. 3
920906101940. 4

Question Number : 86 Question Id : 92090625797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Every planning of classroom can be classified under three major plans-
1. Annual plan, Unit plan, Lesson plan
2. Long term plan, Short term plan, Mid plan
3. School plan, Classroom plan, Teaching plan

4. Course plan, Subject plan, Content plan

Options :

920906101941. 1
920906101942. 2
920906101943. 3
920906101944. 4

Question Number : 86 Question Id : 92090625797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Hefl-Hef Dol oI J3A a1l & sfaria fauiforg & o gadi 81

1. dif¥e i1, gfHe i, Urd dre
2. STl IS, YT JeH], 7 QiaH
3. faerTerdta GIeT, & a1, S{eaTaeh Trof
4. @Y gro, fawg grer, fasaasg gt

Options :

920906101941. 1

920906101942. 2

920906101943. 3
920906101944. 4

Question Number : 87 Question Id : 92090625798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Evaluation is:
1. Evaluation = Measurement + Assessment
2. Evaluation = Assessment + Value Judgement
3. Evaluation = Measurement + Value Judgement
4

. Evaluation = Measurement + Assessment + Value Judgement

Options :

920906101945. 1
920906101946. 2
920906101947. 3
920906101948. 4

Question Number : 87 Question Id : 92090625798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hedid & -
1. Gedid = A9 3R HTHa-
2. HedidH = e AR g FeRo
3. Hedid = A9 3R e FuRo

4. HeiH = AU + 3Tdha- 3R e FAuRo

Options :

920906101945. 1
920906101946. 2
920906101947. 3
920906101948. 4

Question Number : 88 Question Id : 92090625799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the four major forms of Realism?
A. Humanistic Realism

Social Realism

Sense Realism

Meo-Realism

m o N o

Absolute Realism
Choose the correct answer from the options given below:

1. A B C Donly
2. B,C D, Eonly
3. A B D Eonly
4. A B E Conly

Options :

920906101949. 1

920906101950. 2

920906101951. 3
920906101952. 4

Question Number : 88 Question Id : 92090625799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
urfare & ] 9R U F1§?
A. HFqdTErd gyriare
B. I guriareg

. A3 gurfarg
D. Ta-gyrddrg
E. FRUs gurdarg

-9 feu 1Y faeredt 7 4 Hel IR &1 954 SIfo:

1. $dUA,B,C,D
2. &dquB,C,D,E
3. DA A,B,D,E
4. &dUA, B, E,C

M



Options :

920906101949. 1
920906101950. 2
920906101951. 3
920906101952. 4

Question Number : 89 Question Id : 92090625800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NEP-2020 has suggested CPD for Teachers. CPD stands for-
1. Comprehensive Professional Development
2. Continuous Professional Development
3. Circular Progressive Development
4

Cultural Political Development

Options :

920906101953. 1
920906101954. 2
920906101955. 3
920906101956. 4

Question Number : 89 Question Id : 92090625800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST e i -2020 A FRiaret & forg Wit (cpo)et R 1 81 HidiSt 8-

1. PRI UhYAd Saaure
2. HIY3Y UIHRd SdadHc
3. UgeR URIa Sqaude
4. THed Ulidicdd Sdayie

Options :

920906101953. 1

920906101954. 2

920906101955. 3
920906101956. 4



Question Number : 90 Question Id : 92090625801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following portal does not help in preparing, storing and sharing
educational resources:

e-Pathshala
2. SWAYAM

3. SAMARTH
4

1

. National Repository of Open Educational Resources

Options :

920906101957. 1
920906101958. 2
920906101959. 3
920906101960. 4

Question Number : 90 Question Id : 92090625801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofefad o | SF-91 uidd Riemn i GOR &3, UhEd S SR 91e $3
HHee T8l daial

1. - UIEIEn

2. Wd
3. gud
4. TF.3MR.3{15.3MF (N.R.0.E.R.)

Options :

920906101957. 1
920906101958. 2
920906101959. 3
920906101960. 4

Question Number : 91 Question Id : 92090625802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Basic characteristics of learning is -
Change in behaviour

Life long process
Reconstruction of experience
Non-transferable

Fixed

m o N = >

Choose the correct answer from the options given below:
1. C,D, Eonly

C, D only

A, B, C only

L

A, E, Donly

Options :

920906101961. 1
920906101962. 2
920906101963. 3
920906101964. 4

Question Number : 91 Question Id : 92090625802 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTETH H1 IS v 2|

A. deR H uiadA

B. GigAgd=d Ufehdl

C. SfHd B I

D. HEXdIaRUl

. i

12 fqu 7T fasw ol & 9 Wgl IR &1 94 Bifey:



Options :

920906101961. 1
920906101962. 2
920906101963. 3
920906101964. 4

Question Number : 92 Question Id : 92090625803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is the most popular method of Teaching-
1. Lecture Method

Heuristic Method

Project Method

oW

Problem Solving Method

Options :

920906101965. 1
920906101966. 2
920906101967. 3
920906101968. 4

Question Number : 92 Question Id : 92090625803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4T waferd R fafd &1 9l g2
1. & fafy
2. gORfe® fafd
3. Uegor fafe
4. AR HATYT fafd
Options :
920906101965. 1
920906101966. 2

920906101967 3
920906101968. 4



Question Number : 93 Question Id : 92090625804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an economic necessity:
1. Human Resource Development
2. Increase in Production
3. Poverty Alleviation
4. Social Change

Options :

920906101969. 1
920906101970. 2
920906101971. 3
920906101972. 4

Question Number : 93 Question Id : 92090625804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 7 9 -4t snfdfe sravgddl 761 62
1. HHd 9919 [ds™
2. JAEAH G

3. TRIE 3+
4. FWIfSI® dgard

Options :

920906101969. 1
920906101970. 2
920906101971. 3
920906101972. 4

Question Number : 94 Question Id : 92090625805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Professionalism in Teacher Education requires-
A. Professional commitment

Learning from others

Critical reflections

Ability to handle

L R

Managerial skills

Choose the correct answer from the options given below:
1. A Bonly

A, B, Conly

D, E only

C, D, E only

P L R

Options :

920906101973. 1
920906101974. 2
920906101975. 3
920906101976. 4

Question Number : 94 Question Id : 92090625805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST FR1f1 & ATaITGHRo HiT Xl 8-
A. AU Uidaed
B. GWRI G
c. i fRid
D. WHIEH &1 grgal
E. W&t HINd
12 feu e s el # @ 9l I &1 984 BT
1. $AUA, B
2. $AUA,B,C
3. $4uD,E
4. &ddC,D,E



Options :

920906101973. 1
920906101974. 2
920906101975. 3
920906101976. 4

Question Number : 95 Question Id : 92090625806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the disadvantage of problem solving method?

1. It ensure the active participation of the learners.
2. It helps learners gain scientific view and thinking.
3. It makes learner improve their sense of responsibility.
4. It takes too much time.

Options :

920906101977. 1

920906101978. 2

920906101979. 3
920906101980. 4

Question Number : 95 Question Id : 92090625806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 g &3 &t g1 Far g2

1. U8 ATHGA] F Iy TeHAIa B SMRd Hal o
2. U Rrenfial &1 amfAe =P vd fKiaq v & A gems gl gl
3. Og Rrenffgi # Ade #a &1 smd Bl g g
4. U AUS THg AdT g |

Options :

920906101977 1

920906101978. 2

920906101979. 3
920906101980. 4

Question Number : 96 Question Id : 92090625807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

NCERT stands for:
1. National Centre for Education Reforms and Teaching
National Council of Educational Research and Training

National Consortium for Education Research and Teaching

e Che

National Centre for Education of Reformation and Training Teachers

Options :

920906101981. 1
920906101982. 2
920906101983. 3
920906101984. 4

Question Number : 96 Question Id : 92090625807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS RE AN BT & -
1. 9T X BR UgHeH R uos A
2. AT HIITA ST Uoh A Rud uos 2m
3. AFd HI-ATCTH BIX Toh A REd ug e
4. FIFE HeX BR TS I ReniE uus 2 S
Options :
920906101981 1
920906101982. 2

920906101983. 3
920906101984. 4

Question Number : 97 Question Id : 92090625808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il
LIST I LIST 1l
A. Operant Conditioning |. Pavlov
B. Humanistic Theory Il. Skinner
C. Trial and Error Theory Ill. Maslow
D. Classical Conditioning IV. Thorndike
1. A-ll, B-I, C-ll, D-IV

2. A-l, B-ll, C-1v, D-llI
3. A-ll, B-lil, C-IV, D-I
4. A-l, B-IV, C-ll, D-11I

Options :

920906101985. 1
920906101986. 2
920906101987. 3
920906101988. 4

Question Number : 97 Question Id : 92090625808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 &1 gt i 9 faE sifse

Rl LGl

. P Uy egdeyE 1. Ulgdd
 AHdaEE frgia 0 R

. U Ud Hd &1 g . Aae

. QIR SfdeA V. YHSIEH

1. A-ll, B-l, C-lI, D-IV

=

m

.

=

2. A-l, B-ll, C-IV, D-lI
3. AL B-lN, G-IV, DA

4. A-l, B-1v, C-lI, D-N

Options :
920906101985. 1



920906101986. 2
920906101987. 3
920906101988. 4

Question Number : 98 Question Id : 92090625809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is not the example of group activity in classroom:
1. Think-pair-share
Jigsaw

Circle of voice

B W b

Cross word

Options :

920906101989. 1
920906101990. 2
920906101991. 3
920906101992. 4

Question Number : 98 Question Id : 92090625809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 7 9 o1 w1 fawed Han § gyg nfafafl &1 3gewu 78 &2
1. T9IR-g/-A120 (Think-pair-share)
2. SRET Jigsaw)
3. Ufdaf (Circle of voice)
4. THIY S (Cross word)

Options :

920906101989. 1
920906101990. 2
920906101991. 3
920906101992. 4

Question Number : 99 Question Id : 92090625810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Delor's commission recommended to base education on four pillars-learning
to know, learning to do, learning to be, the fourth pillar is:

1. Learning to live happily
2. Learning to practice

3. Learning to live together
4. Learning to die happily

Options :

920906101993. 1
920906101994. 2
920906101995. 3
920906101996. 4

Question Number : 99 Question Id : 92090625810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR AR A a1 F MR & ¥U H IR Jayd W ot e sl a6
fere g, 4 & fere Tig=, g & fore dirgan, ST Wy € -

1. GYETd Siigd & feru ke
2. 31T & fou dig=n

3. HIY-H1Y TE & forg dan
4. G-l 2e o forg dien

Options :

920906101993. 1
920906101994. 2
920906101995. 3
920906101996. 4

Question Number : 100 Question Id : 92090625811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement |: Gender is a social construction and sex is a biological.
Statement Il: Females face discrimination based on biology.

In the light of the above statements, choose the most appropriate answer
from the options given below:

1. Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect

Statement | is correct but Statement [l is incorrect

oW M

Statement | is incorrect but Statement Il is correct

Options :

920906101997. 1
920906101998. 2
920906101999. 3
920906102000. 4

Question Number : 100 Question Id : 92090625811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Py RUTUE

FY |: ST AT W1 8 3R e wifds TRe g
FY 11: AR IRIRNG SMYR IR TS &1 JHAT B g |
IugE HYAT & 3fTeid 1, U MU fawei 7 9 UEl Ik &1 99 HIIT:
1. FYT IR A el g
2. HYF | 3R 1 S TTEd §
3. ®YT el g, Al FYA N Tad g
4. YT 7Ad g, AT HYT 11 el
Options :
920906101997. 1
920906101998. 2

920906101999. 3
920906102000. 4



